41501-05 WREEFMBRFEKXE  ERTZERERS

7= miiEA

MR

BEXRENBREMAEHEEHTZERXRE, ERFEEHTLLREIR
KEREFEH, FAXKZERN , BIMNRETHL2E8ABE , HEIHN
EEENEMNMFEM L,

BERERPOERI , TUBHREXENSFTLEIME,
BHTE  M12=+1.0 mm,

M
BERAMKE T4 R R ARN,

g
BERNMKETHLRBNLNBEE/LLE,

BR:

WEF KB QfEERZSH 41500 BEER K EATFSERERLS,
MEEEALATEE 4R,

EXREE ENBENET AL TSN L EER , UEBKENTH
RERE,

=N
BEIXEZSHMNEEFTHNERE , TBRR T RSN ITESRERE
E,

HESER -
BERE,
B e iR,
RFERA,

BHERR :

AR XBEREM
BE : SEXEME
C & : WH#
DE: EMIRE
E & a4

© norelem www.norelem.com



41501-05 WREEFMBRFEKXE  ERTZERERS

H
H3
Hi,
&
©
H
H3
=
=
= 1_.@
Hi,
&
i

7 & 81 Z @ 81 B=100
ol ~ 3
{[[® {lle
op = |
-
41501-05-0500112 A Hig 64 70 50 25 30 | - 12,5 - 3,5 - -
41501-05-0720116 A D] 86 93 72 39,7 | 44 | - 21,3 - 3,5 - -
41501-05-1000116 A P 101,5 111,5 100 | 426 | 64 | - 21,6 - 5 - -
41501-05-0500212 B P 64 70 50 25 30 | - 12,5 - 3,5 - -
41501-05-0720216 B P 86 93 72 39,7 | 44 | - 21,3 - 3,5 - -
41501-05-1000216 B T 101,5 111,5 100 | 426 | 64 | - 21,6 - 5 - -
41501-05-0502312 C 2 mm M8 71 77 50 25 30 | - 12,5 2 |35 - -
41501-05-0505312 C 5 mm MEE 71 77 50 25 30 | - 12,5 535 - -
41501-05-0722316 C 2 mm M& 91,2 98,6 72 39,7 | 44 | - 21,3 2 |35 - -
41501-05-0725316 C 5 mm M 91,2 98,6 72 39,7 | 44 | - 21,3 5 |35 - -
41501-05-1002316 C 2 mm B & 107,5 117,5 100 | 426 | 64 | - 21,6 2 5 - -
41501-05-1005316 C 5 mm M 107,5 117,5 100 | 426 | 64 | - 21,6 5 5 - -
41501-05-0500412 D EMIRE 75 81 50 25 30 | - 12,5 - 3,5 - -
41501-05-0720416 D AMIRE 95 103 72 39,7 | 44 | - 21,3 - 3,5 - -
41501-05-1000416 D BEMIRE 11,5 121,5 100 | 426 | 64 | - 21,6 - 5 - -
41501-05-0500512 E AT 74,5 80,5 50 25 30 | 18 12,5 - 135 9 4,75
41501-05-0720516 E THEHET 94,6 102 72 39,7 | 44 | 27 213 - 35 9 4,75
41501-05-1000516 E AT 111 121 100 | 426 | 64 | 40 21,6 - 5 9 4,75
41501-05-0500112 A *B 50 M5 | M6 - M12x30 M12x25 30 85
41501-05-0720116 A HB 72 M6 | M6 - M16x50 M16X40 50 150
41501-05-1000116 A xB 100 | M8 | M8 M14X1,5X50 - M16X40 50 150
41501-05-0500212 B P 50 M5 | M6 - M12x30 M12x25 30 85
41501-05-0720216 B ] 72 M6 | M6 - M16x50 M16X40 50 150
41501-05-1000216 B HE 100 | M8 | M8 M14X1,5X50 - M16X40 50 150
41501-05-0502312 C 2 mm M 50 M5 | M6 - M12x30 M12x25 30 85
41501-05-0505312 C 5 mm B4 50 M5 | M6 - M12x30 M12x25 30 85
41501-05-0722316 C 2 mm M 72 M6 | M6 - M16x50 M16X40 50 150
41501-05-0725316 C 5 mm B4 72 M6 | M6 - M16x50 M16X40 50 150
41501-05-1002316 C 2 mm M 100 | M8 | M8 M14X1,5X50 - M16X40 50 150

© norelem www.norelem.com



41501-05 HEEFMHREXRE , ERTZERERSE

F G z BEHE
RAAIRET RARIRL RAARZ max kN max. Nm
DIN 912 DIN 912 DIN 912

41501-05-1005316 C 5 mm B M14X1,5X50 - M16X40

41501-05-0500412 D AMIKE 50| M5 |M6 - M12x30 M12x25 30 85
41501-05-0720416 D AMIRE 72| M6 | M6 - M16x50 M16X40 50 150
41501-05-1000416 D AMIKE 100 M8 | M8 M14X1,5X50 - M16X40 50 150
41501-05-0500512 E e 50 | M5 | M6 - M12x30 M12x25 30 85
41501-05-0720516 E T 72 | M6 | M6 - M16x50 M16X40 50 150
41501-05-1000516 E HHET 100 | M8 | M8 M14X1,5X50 - M16X40 50 150

© norelem www.norelem.com



